
X[0] <= 0.5
mse = 1.01

samples = 26365
value = 0.002

X[17] <= 0.5
mse = 0.719

samples = 20668
value = 0.271

True X[16] <= 0.5
mse = 0.831

samples = 5697
value = -0.988

False

X[1] <= 0.5
mse = 0.188

samples = 1120
value = -0.107

X[21] <= 0.069
mse = 0.741

samples = 19548
value = 0.293

X[21] <= -0.484
mse = 0.148
samples = 69
value = -0.372

X[21] <= -0.988
mse = 0.186

samples = 1051
value = -0.09

X[6] <= 0.5
mse = 0.096
samples = 38
value = -0.241

X[3] <= 0.5
mse = 0.164
samples = 31
value = -0.531

X[8] <= 0.5
mse = 0.087
samples = 37
value = -0.255

mse = -0.0
samples = 1
value = 0.526

X[2] <= 0.5
mse = 0.084
samples = 34
value = -0.227

X[4] <= 0.5
mse = 0.057
samples = 3

value = -0.487

mse = 0.085
samples = 28
value = -0.283

mse = 0.025
samples = 6

value = -0.024

mse = 0.0
samples = 1

value = -0.655

mse = 0.002
samples = 2

value = -0.152

X[7] <= 0.5
mse = 0.142
samples = 26
value = -0.586

X[4] <= 0.5
mse = 0.142
samples = 5

value = -0.139

X[5] <= 0.5
mse = 0.107
samples = 25
value = -0.556

mse = -0.0
samples = 1

value = -1.821

mse = 0.099
samples = 20
value = -0.624

mse = 0.065
samples = 5

value = -0.317

X[19] <= 1.145
mse = 0.067
samples = 4

value = -0.271

mse = 0.0
samples = 1
value = 0.519

mse = 0.008
samples = 3

value = -0.148

mse = 0.0
samples = 1

value = -0.763

X[20] <= 0.5
mse = 0.146

samples = 286
value = 0.013

X[21] <= 1.916
mse = 0.195

samples = 765
value = -0.129

X[22] <= 0.5
mse = 0.14

samples = 280
value = 0.021

X[3] <= 0.5
mse = 0.282
samples = 6

value = -0.414

X[19] <= -0.992
mse = 0.115

samples = 202
value = -0.018

X[21] <= -1.005
mse = 0.187
samples = 78
value = 0.112

mse = 0.113
samples = 201
value = -0.021

mse = -0.0
samples = 1
value = 0.856

mse = 0.178
samples = 77
value = 0.094

mse = -0.0
samples = 1
value = 0.853

X[26] <= 0.5
mse = 0.075
samples = 4

value = -0.049

X[21] <= -1.358
mse = 0.035
samples = 2

value = -1.023

mse = 0.024
samples = 3
value = 0.07

mse = 0.0
samples = 1

value = -0.522

mse = 0.0
samples = 1

value = -1.154

mse = -0.0
samples = 1

value = -0.759

X[21] <= -0.985
mse = 0.192

samples = 741
value = -0.119

X[21] <= 2.845
mse = 0.199
samples = 24
value = -0.408

mse = 0.0
samples = 1

value = -0.926

X[7] <= 0.5
mse = 0.191

samples = 740
value = -0.117

mse = 0.189
samples = 725
value = -0.112

mse = 0.25
samples = 15
value = -0.36

X[2] <= 0.5
mse = 0.19

samples = 20
value = -0.479

X[27] <= 0.5
mse = 0.062
samples = 4

value = -0.008

mse = 0.1
samples = 10
value = -0.245

mse = 0.178
samples = 10
value = -0.687

mse = 0.014
samples = 3
value = 0.092

mse = 0.0
samples = 1

value = -0.511

X[6] <= 0.5
mse = 0.676

samples = 11702
value = 0.359

X[19] <= 1.491
mse = 0.821

samples = 7846
value = 0.195

X[1] <= 0.5
mse = 0.487

samples = 11590
value = 0.353

X[16] <= 0.5
mse = 19.539
samples = 112
value = 0.969

X[16] <= 0.5
mse = 0.532

samples = 651
value = 0.17

X[2] <= 0.5
mse = 0.482

samples = 10939
value = 0.364

X[14] <= 0.5
mse = 0.514

samples = 639
value = 0.183

X[24] <= 0.5
mse = 1.006
samples = 12
value = -0.501

mse = 0.504
samples = 631
value = 0.192

mse = 0.791
samples = 8

value = -0.415

mse = 0.789
samples = 10
value = -0.806

mse = 0.02
samples = 2
value = 0.717

X[16] <= 0.5
mse = 0.577

samples = 4950
value = 0.327

X[5] <= 0.5
mse = 0.401

samples = 5989
value = 0.394

mse = 0.411
samples = 4809
value = 0.321

mse = 5.97
samples = 141
value = 0.545

mse = 0.33
samples = 2000
value = 0.353

mse = 0.435
samples = 3989
value = 0.414

X[5] <= 0.5
mse = 0.242

samples = 103
value = 0.394

X[2] <= 0.5
mse = 171.001

samples = 9
value = 6.482

X[21] <= -1.369
mse = 0.479
samples = 20
value = 0.018

X[14] <= 0.5
mse = 0.157
samples = 83
value = 0.473

mse = 0.279
samples = 2

value = -0.872

mse = 0.396
samples = 18
value = 0.124

mse = 0.131
samples = 80
value = 0.494

mse = 0.518
samples = 3
value = 0.018

X[12] <= 0.5
mse = 222.868

samples = 2
value = 25.613

X[31] <= 0.5
mse = 7.788
samples = 7
value = 0.596

mse = 0.0
samples = 1

value = 34.232

mse = 0.0
samples = 1

value = -0.245

mse = 0.892
samples = 6

value = -0.535

mse = 0.0
samples = 1
value = 6.816

X[2] <= 0.5
mse = 0.782

samples = 6567
value = 0.231

X[10] <= 0.5
mse = 0.982

samples = 1279
value = 0.01

X[9] <= 0.5
mse = 0.836

samples = 3545
value = 0.178

X[19] <= 1.483
mse = 0.711

samples = 3022
value = 0.293

X[1] <= 0.5
mse = 0.752

samples = 2736
value = 0.221

X[11] <= 0.5
mse = 1.092

samples = 809
value = 0.031

mse = 0.897
samples = 278
value = 0.001

mse = 0.728
samples = 2458
value = 0.248

mse = 0.798
samples = 496
value = -0.08

mse = 1.53
samples = 313
value = 0.217

X[20] <= 0.5
mse = 0.669

samples = 3013
value = 0.289

X[16] <= 0.5
mse = 11.936
samples = 9
value = 1.41

mse = 0.682
samples = 2751
value = 0.277

mse = 0.514
samples = 262
value = 0.409

mse = 0.095
samples = 8
value = 0.522

mse = -0.0
samples = 1

value = 14.741

X[19] <= 2.493
mse = 0.855

samples = 529
value = -0.11

X[16] <= 0.5
mse = 1.053

samples = 750
value = 0.094

X[5] <= 0.5
mse = 0.809

samples = 468
value = -0.05

X[19] <= 2.511
mse = 0.947
samples = 61
value = -0.628

mse = 0.842
samples = 227
value = -0.193

mse = 0.742
samples = 241
value = 0.085

mse = 0.002
samples = 5

value = -1.802

mse = 0.899
samples = 56
value = -0.526

X[14] <= 0.5
mse = 0.584

samples = 701
value = 0.055

X[12] <= 0.5
mse = 7.574
samples = 49
value = 0.675

mse = 0.517
samples = 600
value = 0.115

mse = 0.838
samples = 101
value = -0.304

mse = 1.505
samples = 34
value = -0.211

mse = 15.09
samples = 15
value = 2.482

X[1] <= 0.5
mse = 0.599

samples = 4998
value = -1.046

X[19] <= 1.105
mse = 2.296

samples = 699
value = -0.573

X[19] <= 2.227
mse = 0.394

samples = 349
value = -1.229

X[21] <= 1.216
mse = 0.612

samples = 4649
value = -1.032

X[10] <= 0.5
mse = 0.407

samples = 328
value = -1.207

X[10] <= 0.5
mse = 0.086
samples = 21
value = -1.556

X[12] <= 0.5
mse = 0.307

samples = 195
value = -1.272

X[20] <= 0.5
mse = 0.534

samples = 133
value = -1.115

X[21] <= 0.078
mse = 0.272

samples = 164
value = -1.323

X[25] <= 0.5
mse = 0.409
samples = 31
value = -0.989

mse = 0.329
samples = 83
value = -1.182

mse = 0.191
samples = 81
value = -1.445

mse = 0.389
samples = 23
value = -0.811

mse = 0.069
samples = 8

value = -1.539

X[18] <= 0.5
mse = 0.393

samples = 105
value = -1.176

X[24] <= 0.5
mse = 1.013
samples = 28
value = -0.881

mse = 0.505
samples = 52
value = -1.039

mse = 0.251
samples = 53
value = -1.306

mse = 0.369
samples = 22
value = -1.151

mse = 2.051
samples = 6

value = -0.094

X[30] <= 0.5
mse = 0.09

samples = 10
value = -1.411

X[21] <= 2.343
mse = 0.062
samples = 11
value = -1.647

X[18] <= 0.5
mse = 0.074
samples = 7

value = -1.319

X[18] <= 0.5
mse = 0.023
samples = 3

value = -1.718

mse = 0.016
samples = 2

value = -1.621

mse = 0.042
samples = 5

value = -1.189

mse = 0.0
samples = 1

value = -1.501

mse = 0.0
samples = 2

value = -1.826

X[21] <= 2.302
mse = 0.181
samples = 3

value = -1.408

X[26] <= 0.5
mse = 0.018
samples = 8

value = -1.703

mse = 0.004
samples = 2

value = -1.652

mse = 0.0
samples = 1

value = -0.678

mse = 0.006
samples = 6
value = -1.75

mse = 0.011
samples = 2

value = -1.482

X[11] <= 0.5
mse = 0.627

samples = 3656
value = -1.01

X[5] <= 0.5
mse = 0.546

samples = 993
value = -1.114

X[17] <= 0.5
mse = 0.611

samples = 2563
value = -1.042

X[19] <= -1.001
mse = 0.656

samples = 1093
value = -0.934

X[19] <= -1.254
mse = 0.193

samples = 118
value = -0.856

X[21] <= -1.413
mse = 0.629

samples = 2445
value = -1.051

mse = 0.342
samples = 12
value = -0.485

mse = 0.163
samples = 106
value = -0.894

mse = 0.324
samples = 83
value = -1.249

mse = 0.639
samples = 2362
value = -1.043

X[21] <= -1.064
mse = 0.46

samples = 137
value = -1.097

X[21] <= -0.223
mse = 0.681

samples = 956
value = -0.91

mse = 0.486
samples = 123
value = -1.045

mse = 0.077
samples = 14
value = -1.494

mse = 0.697
samples = 245
value = -0.782

mse = 0.667
samples = 711
value = -0.955

X[13] <= 0.5
mse = 0.434

samples = 386
value = -1.197

X[14] <= 0.5
mse = 0.609

samples = 607
value = -1.063

X[19] <= 1.554
mse = 0.326

samples = 284
value = -1.242

X[15] <= 0.5
mse = 0.724

samples = 102
value = -1.065

mse = 0.435
samples = 98
value = -1.126

mse = 0.265
samples = 186
value = -1.297

mse = 0.76
samples = 92
value = -1.002

mse = 0.025
samples = 10
value = -1.645

X[21] <= 1.675
mse = 0.619

samples = 504
value = -1.018

X[9] <= 0.5
mse = 0.501

samples = 103
value = -1.282

mse = 0.46
samples = 258
value = -1.122

mse = 0.758
samples = 246
value = -0.914

mse = 0.705
samples = 54
value = -1.179

mse = 0.217
samples = 49
value = -1.41

X[21] <= 0.193
mse = 1.826

samples = 492
value = -0.702

X[21] <= 1.109
mse = 3.278

samples = 207
value = -0.265

X[19] <= -1.427
mse = 2.457

samples = 276
value = -0.498

X[13] <= 0.5
mse = 0.876

samples = 216
value = -0.969

X[5] <= 0.5
mse = 10.624
samples = 8
value = 0.979

X[19] <= 0.099
mse = 2.11

samples = 268
value = -0.547

X[3] <= 0.5
mse = 12.612
samples = 3
value = 3.525

X[19] <= -1.495
mse = 0.624
samples = 5

value = -0.931

mse = 0.0
samples = 1

value = -1.455

mse = 0.321
samples = 2
value = 6.015

mse = 0.083
samples = 2

value = -1.462

mse = 0.275
samples = 3

value = -0.046

X[12] <= 0.5
mse = 1.943

samples = 256
value = -0.599

X[24] <= 0.5
mse = 4.604
samples = 12
value = 0.858

mse = 1.565
samples = 214
value = -0.691

mse = 3.701
samples = 42
value = -0.097

mse = 1.784
samples = 9

value = -0.018

mse = 4.444
samples = 3
value = 3.267

X[22] <= 0.5
mse = 0.641

samples = 172
value = -1.087

X[22] <= 0.5
mse = 1.571
samples = 44
value = -0.464

X[21] <= 0.708
mse = 0.979
samples = 32
value = -0.739

X[21] <= 0.568
mse = 0.536

samples = 140
value = -1.162

mse = 1.18
samples = 16
value = -0.501

mse = 0.508
samples = 16
value = -1.071

mse = 0.274
samples = 53
value = -1.324

mse = 0.703
samples = 87
value = -1.036

mse = 0.0
samples = 1
value = 4.548

X[10] <= 0.5
mse = 0.772
samples = 43
value = -0.629

mse = 1.093
samples = 7
value = 0.01

mse = 0.592
samples = 36
value = -0.769

X[13] <= 0.5
mse = 3.699
samples = 3
value = 1.99

X[20] <= 0.5
mse = 3.097

samples = 204
value = -0.337

X[19] <= 1.106
mse = 0.168
samples = 2
value = 2.934

mse = -0.0
samples = 1

value = -1.786

mse = 0.0
samples = 1
value = 2.524

mse = 0.0
samples = 1
value = 3.343

X[9] <= 0.5
mse = 3.289

samples = 183
value = -0.266

X[21] <= 1.32
mse = 0.679
samples = 21
value = -1.036

X[4] <= 0.5
mse = 2.793

samples = 101
value = -0.487

X[4] <= 0.5
mse = 3.773
samples = 82
value = 0.011

mse = 1.63
samples = 90
value = -0.658

mse = 10.167
samples = 11
value = 0.937

mse = 4.055
samples = 73
value = 0.165

mse = 0.201
samples = 9

value = -1.131

X[31] <= 0.5
mse = 0.811
samples = 10
value = -0.485

X[14] <= 0.5
mse = 0.125
samples = 11
value = -1.484

mse = 0.401
samples = 9

value = -0.677

mse = -0.0
samples = 1
value = 1.815

mse = 0.041
samples = 9

value = -1.601

mse = 0.168
samples = 2

value = -0.973


